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Unit 2 Test: Relationships & Equations

Knowledge/Understanding: Questions #2 — 6

Application: Question #1,7, 8
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TIPS: Question #9 67
Communication: Question #1
1. The table below shows the price of several used Honda Civics and the age of the car in years.
A fc
ESOIEAE 2 3 6 9 12 13 8 1 2 6
(years)
Price of
car ($) $9000 $8500 $5100 $3900 $3000 $2400 $4500 | $10100 | $9400 $6000
r

a) Plot the data on graph paper. (Please read this whole question before creating your scatter plot).

b) Examine your graph. What type of correlation exists?

(\63 ahve,

c) Draw the line of best fit.

d) Estimate the price of Honda Civic that is 14 years old. What is this type of prediction called?

e) Kerrifinds a Honda Civic that is 7 years old and priced at $4300. Is this car a fair price? Explain how Kerri could
use your line of best fit to determine whether the car is a fair price or not.
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Staple your graph paper to this test when you have completed.
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2. a) If appropriate, draw a line of best fit on each scatter plot below.
b) Describe each correlation (under the graph).
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3. Solve each of the following.

5‘*\(0’\) ne J a~/1\/z

vl
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a) x—9=12
=2 |
e} 5=4a+ 11
~6= Y
a5
7 '/"—i’

T

b)2 =12

a=\{

SR

d)3x—-11=10
Ix>22
Xz

c)—5x =10

K==L

g)dx —2—7x =12 + 4x
Yk~ Do~ =1L
I = /Y
X— -~ L.



Name:

4. Solve each of the following.
a)3(6x + 4) = —2(3x + 6)
l§xtn = -G 1L
(5y v -~ ("L

Ty = -1
8 X =]
c)Vx +12=20
ER
2 q:é#

6. Solve each of the following.
2
a);(Zx —5)=5x

p
4 -2 =YX

74
_//) \

Yo ~fo= ISX
._“x.\, "o

x=-19,
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b)2+3(x—4)=5—(x+7)
2t3n-1 20 ~X~7
R ~1 — 24
Yo = +%
><1~P'3(
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6 cont. Solve the following:

x+2 4x—-1
c)— =
4 3

3(xn) L/qu,{)

Yyt b~ (b~ Y
Ix-liy = 6=
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d)3q3_1=i;i—
1 S

7. Graph the relationship below by first completing the table of values.

y=4x-5
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8. Graph the relationship below by first completing the table of values. /

f

y=x2+2x |6 % [

q "

X y L

-4 b3 B

-3 3 R

-2 0 1

-1 _’

. Q 10816 2 4
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9. Write an equation that has no solution. Explain.
L -~ _
- X +| = O / \J X - l
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